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d Instructions :
e following i1 :
F ts questions paper contains 30 o :M!uw them ;
G . h stio
;;’9 Phis question paper is divided into fio ne. All quey
; € sections - §

.
\)%Qact:on A — Questions no. 1 to 17 ere st
u tl-.ph_n

tong are compulsory

r ‘ectiom AB,C,Dand E
“flotce (MCQ) type questions,
¢ based ¢ uestions,

Section C — Questi
§ ) sttons no. 20 to 23
Answer to these ; are Short
questions shall be written in 8‘:) toﬁ;';;war LSAJ type
words.

Section D — Questions n
- 0. 24 to 28 are Lo
Answer to these questions shall be written in Igg tJ:';a:'su(;er i
; words,

?Pi; Section B — Questions
190 "o. 18 and 19 are sourc

Questions,
type questions,

Section E — Questions no. 29 and 30 are Map based questi
stions,
-

R4 SECTION A

are 17 maultiple choice questions in this section (Q. No. 1 - 17)

testions are compulso
5 17x1=17

Which one among the following is the least populous country ?

(a) Mexico (b) Nigeria

(c) Brazil (d) Indonesia

Which one of the following is the push factor responsible for migration ?
Unpleasant climate

(a) Better job opportunities  (b)
Security to life and property

(c) Peace and stability (d)

Which one of the following is a thickly populated region ?
(a) The Himalayan region (b) Osaka-Kobe region of Japan

(c) Siberian region of Russia (d) Central Chile

Which one of the following features is correct regarding the gathering

and hunting activities ?
(a) Practised in moderate climatic regions

(b)  Involves primitive societies
(¢)  Depends on heavy capital inve
(d) Depends upon modern technology

3
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Match Column I with Columy, II

Column I o
rrect
> Hiranspoxt city g Column 11 option
;. Mining town o Jaipur
siie Garrison town 3 ?mbala
A S Administrative town 4 =N
! ' Singrauli
Options :
@) i—L1U—-2i1-3,iv_4
© i—8,1—4,ii-2 jv—1
(d) j=—2,0i—1iii—4.5v-3
Read the following features of cottage :
correct option : 8¢ manufacturing and choose the
I Place of manufacturing outside the home
. Itis the smallest unit of manufacturing
1. Use local raw materials
Iv. gimple tools are used
Optiohs :
(a) Only I, IT and III are correct.
(b) Only 11, IIT and IV are correct.
(¢) Only I, IT and IV are correct.

(d OnlyI, 1l and IV are correct.
Which one of the following features is correct regarding nomadic herding ?

Nomadism is a modern commercial activity.

a
gb; It is practised on permanent pastures.
(¢) Awide variety of cattle are reared in different regions.
(d) Nomadism 18 associated with modern techgology.
asternmost station of the Past-West

. Whic':h one of the following is the e

corridor ?

(a) . Guwahati (b) Bhopal

() Kolkata (d) Silchar

e \ ’




() Peigny
» Tertiary
© Qulﬂ‘mﬂﬂf
(d' Gecondary
lo, chh of the following in nof true regarding the devel:
p'd' ? ipment of border
tion of people of remote areas with mnjor city
“ien

(n) Inted )
smngt‘.honmg defence preparedness
oods to border villages

(b)
Helps in transporting g
ping large geale industries

:ch one of the following states has the highest population ?
85 Asiar Pritlagh
West Bengal

)
Help in develo

11. ;
(a) Bibar
(© Maharashtra (d)
1 which of the following is the smallest linguistic group in India ?
(a) Austric (b) Dravidian
(c) Indo-EurOpean (d) Sino-Tibetan
13. Which of the following is not & feature of dryland farming ?
@ It is practiﬂed where the annual amount of rainfall is less than 75 cm
(b) Practised 10 Black soil areas
(c) Drought resistant crops are grown
(d  Measures are taken to preserve soil moisture
14. Which one of the following is the feature of clustered settlements E
(a) Theyare fragmented
(p) They are isolated
(¢c)  Closely built-up area of houses
(d)  Units are known as panna, para, palli ete.
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A o

¥ 5,,,dy given below and ansiweyr Q. No. 15 te 17
__ Integrated Trib iy >
7 al D‘—Utfopment Project in Bharmaur Region

e, | ol

A ¢ht srud-" e
are :

@ comprises Bharmaur and Holi tehsils of

15,

16.

17.

64!

Ca“;‘" aur
Bh:li::rict of Himachal Pradesh. It i . i .
gﬂ’b Yor. 1976. Bharmaur is : a notified tribal area since
Cl':], Novem ho have maintained o “:‘h“b‘“’d by ‘Gaddi’, a tribal
2} muniﬁ’ v ractised tt‘xa.nshlhu:na e identity in Yne HimeRyss i
"“ﬂ—‘gn as they P ance and conversed through Gaddiali
aur mb'al region has harsh climate conditions. low resource
and agile e“‘“m“n?ent' :‘hese_fat:mrs have influenced the society
bsse nomy of the region. 2 ‘fcf""dme: to the 2011 census, the total
eco ook Bharmaur sub-chwsufn was 39,113 ie., 21 persons per sq
“]ﬂtfo one of the mnsi‘i (economically and socially) backward areas of
It 18 P desh. Historically, .t.he Gaddis have experienced geographical
I,ﬁ;nﬂ"—hl_ti cal jsolation and 50010‘ec?n0mic deprivation. The economy is
and pol;ase 4 on agricu]ture and allied activities such as sheep and goat
g- ocess of development of tribal area of Bharmaur started in
were included among ‘scheduled tribes’. Under the
he tribal sub-plan was introduced in 1974 and

whef = plan; *
ted as one of the five Integrated Tribal

Five Y° desig?
Bharmaur wass ects “TDP) in Himachal Pradesh. This area development
0)e¢™  ving the quality of life of the Gaddis.

t
Deve::;’:“:;ed at imP
ples bal region pelongs to which of the following states ?
pBharmai’t ‘I:khan d (b) Himachal Pradesh
(a) yetar dest (d) Jammu and Kashmir
o) NPT = : ! .
. tribal communities dominate in Bharmaur region ?
ich of the following @) Bhils
(a) g:k::rw 2 @) Gaddis
(c) L2 : A
( AN siaof Integrated Tribal Development Project (ITDP) ?
What 18 e sl
@) ILmproving imeatios
() Improving sheep rearin®
the region

(c) Improving soils of
(d) [mproving the quality of

life of the Gaddis
9
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SECTION B o
a]jdzg are Source"ba,ged Queatiam. .
i graph and answer the questions that follow : 3x1=3
pattern of the Composition of India’s Exports
f_;gap between Exports and Im Ss
oreign trade During 2012 — 13 to 2016 — 17
|
3 T 1 : T .
201314 2014-15 . 2015-18 2016-17 (p)
= = Export —{}— Import
onomic Survey, 2016 — 17
- was the gap between imports and exports the
ap between imports and exports minimum ?
r had India’s exports shown highest upward trend ?
{;, 11



19.

i . Xports of i :
cashew etc. Give an appropriate :::‘&‘:;frfonal items such as
: 1

0% there a steep rise j ia’s i
4 I India’s import of petroleum

: _';'_'_:y

(18_..2’] u . 1
P gector has the highest : :
= “rhl‘-'-h e:,e ghest share in India’s total value of
(188)  xpors 2
‘ carefull
.o passage ¥ and answer the questions that follow : 3x1=3

Methods of Mining

, . on the mode of oce
DﬁeP*—'*-“dmg ses : surface and vrrence and the nature of the ore,
two tyPe® - underground mining. The surface

15 of tW en-cast mining i
_ own s 0P : g 1s the easiest and the cheapest way
that occur close to the surface. Overhead costs such as

. and equ{pment are relatively low in this method. The

oﬂ@ut When he ore lies deep below the surface, underground mining
). & aﬁ meth.od)has to be used. In this method, vertical shafts have
metho unk, from where underground galleries radiate to reach the
L P Minerals are .-extl‘aCt‘?d and transported to the surface through
miner !'gﬁge alt requires specially designed lifts, drills, haulage vehicles,
. for safety and efficient movement of people and

ventilation SY thod is risky- Poisonous gases, fires, floods and caving in

ﬁ:éetl;fatalacmdents Have you ever read about mine fires and flooding of

ol mines in [ndia ?
The developed economies are retreating from mining, processing
andreﬁmng stages of production due to high labour costs, while the

developing ¢ unmes with large labour force and striving for higher

of g are becoming more important. Several countries of
fow of South America and Asia have over fifty percent of the

{ '.ﬁiuier-a]s alone.
E’xplamthe main difference between surface and underground

‘mining.

Why is open-cast mining the easiest way of mining ?
Vhy is shaft mining more risky ?

13
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SECTION C Q)&'\P
Qu number 20 to 23 are Short Answer Type Questions.

20. =8 beaid emphasis is laid on the relationship between nature and human
haingail all wph.lcal studies.” Explain the statement.
. why all forms of transport are also referred to as lines of
3

3

21. (‘} g unimtiﬂno
OR

) Explain why modern society requires speedy and efficient system

of transport. J
99 “Petroleum is an essential source of energy for running transport and

1 » Examine the statement. 3

mdusﬂ'.‘f
the causes of negative growth of population in India
3

Explain
B petween 1911 and 1921.
OR

lain the causes of rapid positive growth of population in India
3

b Exp
from 1951 to 1981
SECTION D

Questions number 94 to 28 are Long Answer Type Questions.
approaches to human development. 2 ig +2 ‘E 7

24. Describe income and welfare
r characteristics of modern large scale
5

25. (a) Examine the majo
manufacturing in the world.
OR

(b) “High tech industry

the world.” Examine the statement.

Explain balance of trade with examples and examine the role of

World Trade Organisation (WTO) in international trade. 24+3=5
OR

Examine any five bases of international trade.

is the latest generation of manufacturing in
5

26. (a)

o

(b)

: help in conserving water resources in India.

Explam with examples how watershed management and ramwater
+2 -5

5

entwithexamplea
PTG
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SECTION E
number 29 and 30 are Map based Questions.

5

Questio
%‘ the given political outline map of the World (on page 21), seven
o eatures have been marked as A, B, C, D, E, F and G.

=

29.
b gwﬂfapb'lcal ta
five with the help of the following information and wri
5x1=5

1dentify 8%
correct names on the lines drawn near them :
their

L

] An international airport in South America
A canal linking Atlantic Ocean with Pacific Ocean
A major seaport in Australia
A terminal station of Trans-Siberian Railway
area of commercial livestock rearing

Amajor
An area of extensive commercial grain farming

A
B
C
D.
E
F
G A major seaport in Asia

owing questions are for Visually Impaired Candidates only

g
%
%

uiﬁeu of @. No. 29.
Answer any five questions out of the followmg Ex]=5

5y
: (29.1) Name any one international airport of Argentina.
(29,2) Which canal links Atlantic Ocean with Pacific Ocean ?

Name any one major seaport of Australia.

(29.3)

(29.4) Which is the terminal station on the eastern end of
Trans-Siberian Railway ?

(29.5) Mention the major area of commercial livestock rearing in
Argentina.

17 P.T.O.




: | lit
tm. on a.. gi:;n t:" ':;-1 outline map of India (on page 29), locate and label
any five e following seven geographical features with appropriate

gymbols : B 1mb

@00 The state with lowest level of population a-mlty

302 The city of West Bengal having more than 10 million population
m‘, The state leading in the production of cotton

@04 Bailadila — iron-ore mines

305) Mathura - oil refinery

: Note: The | questions are for Visually IMiM Candidates only
man No. 30.
Answer any five questions out of the following : 5x1=5

Name the state with lowest level of population density.

(@3} Name the city of West Bengal having more than 10 million

ppnlnhon.

mch is the state leading in the production of cotton ?

(ﬂ-ﬂ
kwhlch state are Bailadila iron-ore mines located ?

M In which state is Mathura oil refinery located ?
Yn which coast of India is Marmagao seaport located ?

Jame the international airport in Assam,



